# FURTHER STABILITY CRITERIA FOR CERTAIN SECOND-ORDER DELAY DIFFERENTIAL EQUATIONS WITH MIXED COEFFICIENTS 

M. O. OMEIKE ${ }^{1}$


#### Abstract

This work investigates the asymptotic stability of the trivial solution of the second-order linear delay differential equation $$
\ddot{x}(t)=a_{1} \dot{x}(t)+a_{2} \dot{x}(t-\tau)+b_{1} x(t)+b_{2} x(t-\tau),
$$ where $\tau>0, a_{1}, a_{2}, b_{1}, b_{2}$ are real numbers. By reducing the equation to a linear second-order ordinary differential equation with constant coefficients, sufficient conditions which guarantee the asymptotic stability of the trivial solution are obtained in a very simple form.


Keywords and phrases: Asymptotic stability; Delay differential equations; ordinary differential equations; Second-order. 2010 Mathematical Subject Classification: 45E99;34D99.

Abstract. This work investigates the asymptotic stability of the trivial solution of the second-order linear delay differential equation

$$
\ddot{x}(t)=a_{1} \dot{x}(t)+a_{2} \dot{x}(t-\tau)+b_{1} x(t)+b_{2} x(t-\tau),
$$

where $\tau>0, a_{1}, a_{2}, b_{1}, b_{2}$ are real numbers. By reducing the equation to a linear second-order ordinary differential equation with constant coefficients, sufficient conditions which guarantee the asymptotic stability of the trivial solution are obtained in a very simple form.

## 1. Introduction

Consider the differential equation

$$
\begin{equation*}
\ddot{x}(t)=a_{1} \dot{x}(t)+a_{2} \dot{x}(t-\tau)+b_{1} x(t)+b_{2} x(t-\tau), \tag{1.1}
\end{equation*}
$$

Received by the editors May 05, 2022; Revised: September 19, 2022; Accepted: January 25, 2023
www.nigerianmathematicalsociety.org; Journal available online at https://ojs.ictp. it/jnms/
where $\tau>0, a_{i}, b_{i}(i=1,2)$ are constants, which has applications in science and technology ([1] - [14]). Equation 1.1 has been a subject of interest in literature recently. Cahlon and Schmidt [3],[4], and Yeniceriolu [14] have investigated 1.1 for asymptotic stability of solutions. Cahlon and Schmidt [3] have studied 1.1 for stability of solution using the Pontryagin's theory of quasi-polynomials, which is rather long and complicated. In [3], the authors showed that solutions are not stable if $a_{1} a_{2} \geq 0$ and $b_{1}>0, b_{2}>0$, while in [4], they investigated the asymptotic stability of the trivial solution of 1.1 whenever $a_{1} a_{2} \geq 0$ and $b_{1} b_{2}<0$, and presented some examples to demonstrate their results. Yeniceriolu [14], also studied equation 1.1 together with a given initial value for the stability, asymptotic stability and instability of solutions. In the present paper, we study the stability of solutions of 1.1 by reducing it to an ordinary differential equation with constant coefficients, and then deduce stability criteria according to the zeros of the characteristic polynomial arising from the differential equation. These criteria are easily determined and are more general than those obtained in [3],[4] and [14], and we do not necessarily require any algorithm test [3],,[4] nor initial data [9] to obtain them.
To the best of our ability, this approach is scarce in literature to investigate the stability of solutions of 1.1, and does not require any knowledge of solution.
This paper is outlined thus: $\S 2$ consists of some preliminary stability results, $\S 3$ contains the main result of the paper, and examples are presented in $\S 4$.

## 2. PRELIMINARY RESULTS

Consider the linear second-order ordinary differential equation

$$
\begin{equation*}
\ddot{y}(t)+p_{1} \dot{y}(t)+p_{2} y(t)=0 \tag{2.1}
\end{equation*}
$$

where $p_{j}(j=1,2)$ are real arbitrary constants. The characteristics polynomial associated with 2.1 is

$$
\begin{equation*}
\lambda^{2}+p_{1} \lambda+p_{2}=0 \tag{2.2}
\end{equation*}
$$

obtained by assuming that $y=e^{\lambda t}$ is a solution of 2.1. The eigenvalues $\lambda_{j}(j=1,2)$ (which are solutions) of 2.2 determine the stability properties of the solutions of 2.1.

Lemma 2.1. [2]: Suppose the eigenvalues $\lambda_{j}(j=1,2)$ of 2.2 satisfy one of the following:
(i) $\lambda_{1}<\lambda_{2}=0$;
(ii) $\lambda_{1,2}= \pm i \mu, \mu \in \mathbb{R}$,
then the trivial solution $y=0$ of 2.1 is stable.
Lemma 2.2. [2]: If the eigenvalues $\lambda_{j}(j=1,2)$ of 2.2 satisfy one of the following:
(i) $\lambda_{1}=\lambda_{2}<0$;
(ii) $\lambda_{1}<\lambda_{2}<0$;
(iii) $\lambda_{1,2}=\gamma \pm i \mu, \gamma<0, \mu \in \mathbb{R}$,
then the trivial solution $y=0$ of 2.1 is asymptotically stable.
Lemma 2.3. [2]: The trivial solution $y=0$ of 2.1 is not stable or unstable if the eigenvalues $\lambda_{j}(j=1,2)$ of 2.2 satisfy one of the following:
(i) $\lambda_{1}>\lambda_{2}>0$;
(ii) $\lambda_{1}>\lambda_{2}=0$;
(iii) $\lambda_{1}<0<\lambda_{2}$;
(iv) $\lambda_{1}=\lambda_{2}>0$;
(v) $\lambda_{1,2}=\gamma \pm i \mu, \gamma>0, \mu \in \mathbb{R}$.

In the next section, we state and prove a result which ensures that the trivial solution of 2.1 is asymptotically stable.

## 3. MAIN RESULT

The main result of this paper is the following theorem.
Theorem 3.1. : Let $\tau>0, a_{i}, b_{i}(i=1,2)$ be arbitrary real constants satisfying:
(i) $\frac{b_{1}+b_{2}}{1+\tau a_{2}}<0$,
(ii) $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}<0$, where $1+\tau a_{2} \neq 0$.

Then, the trivial solution of equation (1.1) is asymptotically stable.
Proof. Let us rewrite1.1 as
$\ddot{x}(t)=\left(a_{1}+a_{2}\right) \dot{x}(t)+\left(b_{1}+b_{2}\right) x(t)-a_{2} \int_{t-\tau}^{t} \ddot{x}(s) d s-b_{2} \int_{t-\tau}^{t} \dot{x}(s) d s$,
where

$$
x(t-\tau)=x(t)-\int_{t-\tau}^{t} \dot{x}(s) d s \text { and } \dot{x}(t-\tau)=\dot{x}(t)-\int_{t-\tau}^{t} \ddot{x}(s) d s
$$

have been substituted accordingly in equation 1.1. By some rearrangements, we obtain

$$
\int_{t-\tau}^{t}\left[a_{2} \ddot{x}(s)+b_{2} \dot{x}(s)\right] d s=\left(a_{1}+a_{2}\right) \dot{x}(t)+\left(b_{1}+b_{2}\right) x(t)-\ddot{x}(t)
$$

Simplifying further, we obtain

$$
\int_{t-\tau}^{t}\left[a_{2} \ddot{x}(s)+b_{2} \dot{x}(s)\right] d s=\int_{t-\tau}^{t} \frac{1}{\tau}\left[\left(a_{1}+a_{2}\right) \dot{x}(t)+\left(b_{1}+b_{2}\right) x(t)-\ddot{x}(t)\right] d s
$$

Thus,

$$
\left(1+\tau a_{2}\right) \ddot{x}(t)-\left(a_{1}+a_{2}-\tau b_{2}\right) \dot{x}(t)-\left(b_{1}+b_{2}\right) x(t)=0 .
$$

Dividing the last equation by $1+\tau a_{2} \neq 0$, we obtain

$$
\begin{equation*}
\ddot{x}(t)-\left(\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}\right) \dot{x}(t)-\left(\frac{b_{1}+b_{2}}{1+\tau a_{2}}\right) x(t)=0 \tag{3.1}
\end{equation*}
$$

where $1+\tau a_{2} \neq 0$.
This implies that the problem of investigating the stability properties of the equation 1.1 is equivalent to investigating the stability properties of equation 3.1.
Suppose $x(t)=e^{\lambda t}$ for $t \in \mathbb{R}$, is a solution of 3.1 , we see that $\lambda$ is a root (zero) of the characteristic polynomial

$$
\begin{equation*}
\lambda^{2}-\left(\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}\right) \lambda-\left(\frac{b_{1}+b_{2}}{1+\tau a_{2}}\right)=0,1+\tau a_{2} \neq 0 \tag{3.2}
\end{equation*}
$$

The zeros of 3.2 are given by
$\lambda_{1,2}=\frac{1}{2}\left\{\left(\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}\right) \pm \sqrt{\left(\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}\right)^{2}+4\left(\frac{b_{1}+b_{2}}{1+\tau a_{2}}\right)}\right\}$,
where $1+\tau a_{2} \neq 0$.
Obviously, $\lambda_{1,2}$ possess negative real part if conditions (i) and (ii) of Theorem 3.1 are satisfied. Hence the trivial solution of 1.1 (or equivalently 3.1 ) is asymptotically stable.

## REMARKS

(1) If condition (ii) of Theorem3.1 is replaced with $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=$ 0 , then $\lambda_{1,2}$ have no real roots. Then, following Lemma2.1 the trivial solution of 1.1 (or equivalently 3.1) is stable.
(2) If condition (i) of Theorem3.1 is replaced with $\frac{b_{1}+b_{2}}{1+\tau a_{2}}=0$, then the zeros of 3.2 are given by $\lambda_{1}<0$ and $\lambda_{2}=0$.

Then, following Lemma2.1 the trivial solution of 1.1 (or equivalently 3.1) is stable.
(3) If $a_{1} a_{2} \geq 0$ and $b_{1}>0, b_{2}>0$, then either $a_{1} \leq 0, a_{2} \leq$ $0, b_{1}>0, b_{2}>0$ or $a_{1} \geq 0, a_{2} \geq 0, b_{1}>0, b_{2}>0$. In either case conditions (i) and (ii) of Theorem3.1 are not satisfied. Hence the trivial solution of 1.1 (or equivalently 3.1) is not stable. This corroborates results obtained by Cahlon and Schmidt in [3].
(4) Obviously, conditions (i) and (ii) of Theorem3.1 are easy to apply to examples presented in [4] and [14]. We do not need any algorithm test nor initial data to obtain our results.

## 4. EXAMPLES

Here, we present the following examples which are also found in [4] and [14].

Example 4.1. Consider

$$
\begin{equation*}
\ddot{x}(t)=0.3 \dot{x}(t)+0.6 \dot{x}(t-1)-11 x(t)+x(t-1), \tag{4.1}
\end{equation*}
$$

where we deduce that

$$
\begin{gathered}
a_{1}=0.3, a_{2}=0.6, b_{1}=-11, b_{2}=1, \tau=1, a_{1} a_{2}=0.18>0, b_{1} b_{2}=-11<0, \\
\frac{b_{1}+b_{2}}{1+\tau a_{2}}=-6.25<0
\end{gathered}
$$

and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=-0.0625<0$. Following equation 3.1, we obtain

$$
\ddot{x}(t)+0.0625 \dot{x}(t)+6.25 x(t)=0,
$$

with solution

$$
x(t)=e^{-0.03125 t}\left(C_{1} \cos 2.4998046799 t+C_{2} \sin 2.4998046799 t\right)
$$

$C_{1}, C_{2}$ are real constants. Hence the trivial solution of 4.1 is asymptotically stable since all hypotheses of Theorem3.1 are satisfied. See Figure 1.

Example 4.2. Consider

$$
\begin{equation*}
\ddot{x}(t)=0.6 \dot{x}(t)+0.3 \dot{x}(t-1)-2 x(t)+x(t-1), \tag{4.2}
\end{equation*}
$$

where we deduce that

$$
\begin{gathered}
a_{1}=0.6, a_{2}=0.3, b_{1}=-2, b_{2}=1, \tau=1, a_{1} a_{2}=0.18>0, b_{1} b_{2}=-2<0, \\
\frac{b_{1}+b_{2}}{1+\tau a_{2}}=-0.769<0
\end{gathered}
$$

and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=-0.0769<0$. Following equation 3.1, we obtain

$$
\ddot{x}(t)+0.0769 \dot{x}(t)+0.769 x(t)=0,
$$

with solution

$$
x(t)=e^{-0.0384615385 t}\left(C_{1} \cos 0.87621488 t+C_{2} \sin 0.87621488 t\right),
$$

$C_{1}, C_{2}$ are real constants. All the conditions of Theorem 3.1 are satisfied, hence the trivial solution of 4.2 is asymptotically stable. See Figure 2.

Example 4.3. Consider

$$
\begin{equation*}
\ddot{x}(t)=2 \dot{x}(t-1)-3 x(t)+x(t-1), \tag{4.3}
\end{equation*}
$$

where we deduce that

$$
\begin{gathered}
a_{1}=0, a_{2}=2, b_{1}=-3, b_{2}=1, \tau=1, a_{1} a_{2}=0, b_{1} b_{2}=-3<0, \\
\frac{b_{1}+b_{2}}{1+\tau a_{2}}=-0.667<0,
\end{gathered}
$$

and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=0.3333>0$. Following equation 3.1, we get

$$
\ddot{x}(t)+0.3333 \dot{x}(t)+0.667 x(t)=0
$$

with solution
$x(t)=e^{0.1666667 t}\left(C_{1} \cos 0.799305253 t+C_{2} \sin 0.799305253 t\right)$,
$C_{1}, C_{2}$ are real constants. Clearly, condition (ii) of Theorem 3.1 is not satisfied. Therefore, the trivial solution of 4.3 is not stable. See Figure 3.

## Example 4.4. Consider

$$
\begin{equation*}
\ddot{x}(t)=\dot{x}(t-1)-3 x(t)+x(t-1), \tag{4.4}
\end{equation*}
$$

where we deduce that

$$
a_{1}=0, a_{2}=1, b_{1}=-3, b_{2}=1, \tau=1, a_{1} a_{2}=0, b_{1} b_{2}=-3<0
$$

$\frac{b_{1}+b_{2}}{1+\tau a_{2}}=-1<0$ and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=0$. Following equation 3.1, we obtain

$$
\ddot{x}(t)+x(t)=0
$$

with solution

$$
x(t)=C_{1} \cos t+C_{2} \sin t
$$

$C_{1}, C_{2}$ are real constants. The trivial solution of 4.4 is stable. See Figure 4.

Example 4.5. Consider

$$
\begin{equation*}
\ddot{x}(t)=-4 \dot{x}(t)+\frac{1}{e} \dot{x}\left(t-\frac{1}{2}\right)-3 x(t)+\frac{1}{e} x\left(t-\frac{1}{2}\right), \tag{4.5}
\end{equation*}
$$

where we deduce that
$a_{1}=-4, a_{2}=\frac{1}{e}, b_{1}=-3, b_{2}=\frac{1}{e}, \tau=\frac{1}{2}, a_{1} a_{2}=-\frac{4}{e}<0, b_{1} b_{2}=-\frac{3}{e}<0$,
$\frac{b_{1}+b_{2}}{1+\tau a_{2}}=-2.3786<0$ and and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=-3.2232<0$.
Following equation 3.1, we obtain

$$
\ddot{x}(t)+3.2232 \dot{x}(t)+2.3786 x(t)=0,
$$

with solution

$$
x(t)=C_{1} e^{-2.8304628117 t}+C_{2} e^{-0.3927251709 t}
$$

$C_{1}, C_{2}$ are real constants. Obviously, the trivial solution of 4.5 is asymptotically stable.See Figure 5.

Example 4.6. Consider

$$
\begin{equation*}
\ddot{x}(t)=-\frac{e}{2} \dot{x}(t)-\frac{1}{2} \dot{x}(t-1)+x(t)-x(t-1), \tag{4.6}
\end{equation*}
$$

where we deduce that
$a_{1}=-\frac{e}{2}, a_{2}=-\frac{1}{2}, b_{1}=1, b_{2}=-1, \tau=1, a_{1} a_{2}=\frac{e}{4}>0, b_{1} b_{2}=-1<0, \frac{b_{1}+b_{2}}{1+\tau a_{2}}=0$
and $\frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=1-e<0$. Following equation 3.1, we obtain

$$
\ddot{x}(t)+(1-e) \dot{x}(t)=0,
$$

with solution

$$
x(t)=C_{1}+C_{2} e^{-1.7182881825 t},
$$

$C_{1}, C_{2}$ are real constants. The trivial solution of 4.6 is stable.See Figure 6.

Example 4.7. Consider

$$
\begin{equation*}
\ddot{x}(t)=3 \dot{x}(t)-\dot{x}\left(t-\frac{\pi}{2}\right)-2 x(t)+x\left(t-\frac{\pi}{2}\right), \tag{4.7}
\end{equation*}
$$

where we deduce that

$$
\begin{aligned}
& n a_{1}=3, a_{2}=-1, b_{1}=-2, b_{2}=1, \tau=\frac{\pi}{2}, a_{1} a_{2}=-3<0, b_{1} b_{2}=-2<0, \\
& \frac{b_{1}+b_{2}}{1+\tau a_{2}}=0.9339>0 \text { and } \frac{a_{1}+a_{2}-\tau b_{2}}{1+\tau a_{2}}=-0.7519<0 . \text { Following } \\
& \text { equation 3.1, we obtain }
\end{aligned}
$$

$$
\ddot{x}(t)+0.7519 \dot{x}(t)-09339 x(t)=0,
$$

with solution

$$
x(t)=C_{1} e^{t}+C_{2} e^{-1.751938394 t}
$$

$C_{1}, C_{2}$ are real constants. The trivial solution of 4.7 is not stable. See Figure 7.
Example 4.8. Consider

$$
\begin{equation*}
\ddot{x}(t)+a \dot{x}(t)+b x(t-\tau)=0 \tag{4.8}
\end{equation*}
$$

where $a, b, \tau$ are positive real numbers. Following $\S 3$, equation 4.8 reduces to

$$
\ddot{x}+(a-\tau b) \dot{x}+b x=0
$$

whose trivial solution (equivalently 4.8) is asymptotically stable provided $a-\tau b>0$. This corroborates results obtained in ([1],Example 4.2.7.,page 253).

Example 4.9. Consider

$$
\begin{equation*}
\dot{x}(t)=a_{0} x(t)+a_{1} x(t-\tau), \tag{4.9}
\end{equation*}
$$

where $\tau>0, a_{0}, a_{1}$ are real constants. Following $\S 3$, equation 4.9 reduces to

$$
\dot{x}(t)-\left(\frac{a_{0}+a_{1}}{1+a_{1} \tau}\right) x(t)=0
$$

with solution

$$
\begin{equation*}
x(t)=e^{\left(\frac{a_{0}+a_{1}}{1+a_{1} \tau}\right) t}, 1+a_{1} \tau \neq 0 \tag{4.10}
\end{equation*}
$$

The trivial solution of equation 4.9 is asymptotically stable provided $a_{0}+a_{1}<0$ and $1+a_{1} \tau>0$. This corroborates results obtained in ([5],Example 2.4.3.,page 58). We can also deduce from 4.10 that solutions of 4.9 are asymptotically stable provided $a_{0}+a_{1}>0$ and $1+a_{1} \tau<0$.


Figure 1


Figure 2

FURTHER STABILITY CRITERIA FOR CERTAIN SECOND-ORDER...


Figure 3


Figure 4


Figure 5


Figure 6


Figure 7

## References

[1] T. A. Burton, Stability and periodic solutions of ordinary and functional differential equations, Mathematics in Science and Engineering, Vol. 178, Academic Press, Inc., London, 1985.
[2] W. E. Boyce, R. C. Diprima, Elementary differential equations and boundary value problems, Eighth Edition, John Wiley \& Sons, Inc. 2005.
[3] B. Cahlon, D. Schmidt, Stability criteria for certain second order delay differential equations, Dyn. Continuous Discrete Impulsive Systems 10 (2003) 593-621.
[4] B. Cahlon, D. Schmidt, Stability criteria for certain second-order delay differential equations with mixed coefficients, Journal of Computational and Applied Mathematics 170 (2004) 79-102.
[5] E. N. Chukwu, Stability and time-optimal control of hereditary systems, Mathematics in Science and Engineering, Vol. 188, Academic Press, Inc. 1992.
[6] G. D. Hu, T. Mitsui,Stability of numerical methods for system of neutral delay differential equations, BIT 35 (1995) 505-515.
[7] N. MacDonald, Biological Delay Systems: Linear Stability Theory, Cambridge University Press, Cambridge, New York, 1989.
[8] C. R. Steel, Studies of the Ear, Lectures in Applied Mathematics, Vol. 17, American Mathematical Society, Providence RI, 1979, pp. 69-71.
[9] S. A. Tobias, Machine Tool Vibrations, Blackie, London, 1965.
[10] C. Tunc, A note on the stability and boundedness of non-autonomous differential equations of second order with variable deviating argument, Afr. Math., 25(2) (2014), 417-425.
[11] C. Tunc, O. Tunc, A note on the stability and boundedness of solutions to non-linear differential systems of second order, Journal of the Association of Arab Universities for Basic and Applied Sciences 24 (2017), 169-175.
[12] C. Tunc, On the qualitative behaviours of a functional differential equation of second order, Appl. Appl. Math. 12 (2017), no. 2, 813-842.
[13] S. Yalcinbas, F. Yeniceriolu, Exact and approximate solutions of second order including function delay differential equations with variable coefficients, Appl. Math. Comput. 148 (2004) 287-298.
[14] A. F. Yeniceriolu, The behavior of solutions of second order delay differential equations, J. Math. Anal. Appl. 332 (2007) 1278-1290.
${ }^{1}$ Department of Mathematics, Federal University of Agriculture, Abeokuta, Nigeria.
moomeike@yahoo.com ; omeikemo@funaab.edu.ng

